

Konuralp Journal of Mathematics

Journal Homepage: www.dergipark.gov.tr/konuralpjournalmath e-ISSN: 2147-625X



On Some Identities And Generating Function of Both K-jacobsthal Numbers and Symmetric Functions in Several Variables

Souhila Boughaba¹ and Ali Boussayoud^{1*}

¹LMAM-Department of Mathematics, Mohamed Seddik Ben Yahia University, Jijel, Algeria *Corresponding author E-mail: aboussayoud@yahoo.fr

Abstract

In this paper, we derive new generating functions for the products of *k*-Fibonacci numbers at negative indices, *k*-Pell numbers at negative indices, *k*-Jacobsthal numbers at negative indices, the product of *k*-Fibonacci numbers and Tribonacci numbers, Jacobsthal polynomials and symmetric functions in several variables by making use of useful properties of the symmetric functions.

Keywords: k-Fibonacci and *k*- Jacobsthal numbers at negative indices; Generating functions; Symmetric functions. 2010 Mathematics Subject Classification: 05E05; 11B39.

1. Introduction and Preliminaries

The Fibonacci numbers and their generalizations have many interesting properties and applications to almost every field of science and art (for e.g, see [15]). Fibonacci numbers F_n are defined by the recurrence relation

$$\begin{cases} F_0 = 1, F_1 = 1\\ F_{n+1} = F_n + F_{n-1}, n \ge 1 \end{cases}$$

so, there exist many properties for Fibonacci numbers. In particular, there is a beautiful combinatorial identity to Fibonacci numbers [16]

$$F_n = \sum_{i=0}^{\left\lfloor \frac{n-i}{2} \right\rfloor} \begin{pmatrix} n-i-1\\i \end{pmatrix}$$
(1.1)

From (1.1), Falcon [17] introduced the incomplete Fibonacci numbers $F_n(s)$, which are defined by

$$F_n(s) = \sum_{j=0}^{s} \binom{n-j-1}{j}, \ 0 \le s \le \left[\frac{n-1}{2}\right]; \ n = 0, 1, 2, ...,$$

On the other hand, many kinds of bf Fibonacci numbers generalizations have been presented in the literature, in particular, the *k*-Fibonacci Numbers. For any positive real number *k*, the *k*-Fibonacci sequence, say $(F_{n,k})_{n \in \mathbb{N}}$, is defined recurrently by [17]

$$\begin{cases} F_{k,0} = 1, F_{k,1} = k \\ F_{k,n+1} = kF_{k,n} + F_{k,n-1}, \ n \ge 1 \end{cases}$$

In [16], the *k*-Fibonacci numbers were found by studying the recursive application of two geometrical transformations used in the four-triangle longest-edge (4TLE) partition. These numbers have been studied in several works [16, 17].

Definition 1.1. For any positive real number k, the k-Lucas numbers, say $\{L_{k,n}\}_{n \in \mathbb{N}}$ is defined recurrently by

$$L_{k,n+1} = kL_{k,n} + L_{k,n-1}$$
 for $n \ge 1$,

with initial conditions $L_{k,0} = 2; L_{k,1} = k$.

Email addresses: souhilaboughaba@gmail.com (S. Boughaba), aboussayoud@yahoo.fr (A. Boussayoud)

Definition 1.2. [12] For any positive real number k, the k-Pell numbers, say $\{P_{k,n}\}_{n\in\mathbb{N}}$ is defined recurrently by

 $P_{k,n+1} = 2P_{k,n} + kP_{k,n-1}$ for $n \ge 1$,

with initial conditions $P_{k,0} = 0$; $P_{k,1} = 1$.

Definition 1.3. For any positive real number k, the k-Pell Lucas numbers, say $\{Q_{k,n}\}_{n\in\mathbb{N}}$ is defined recurrently by

 $Q_{k,n+1} = 2Q_{k,n} + kQ_{k,n-1}$ for $n \ge 1$, with initial conditions $Q_{k,0} = 2; Q_{k,1} = 2$.

Definition 1.4. [14] For any positive real number k, the k-Jacobsthal numbers, say $(J_{n,k})_{n \in \mathbb{N}}$, is defined recurrently by

$$\begin{cases} J_{k,0} = 0, J_{k,1} = 1\\ J_{k,n+1} = kJ_{k,n} + 2J_{k,n-1}, \ n \ge 1 \end{cases}$$

Definition 1.5. [13]For $n \in \mathbb{N}$, the Jacobsthal polynomials, say $(J_n(x))_{n \in \mathbb{N}}$, is defined recurrently by

$$\begin{cases} J_0(x) = 0, J_1(x) = 1\\ J_{n+1}(x) = J_n(x) + 2xJ_{n-1}(x), \ n \ge 1 \end{cases}$$

Definition 1.6. For $n \in \mathbb{N}$, the Tribonacci numbers, say $(T_n)_{n \in \mathbb{N}}$, is defined recurrently by

$$\left\{ \begin{array}{c} T_0 = 1, T_1 = 1, T_2 = 2 \\ T_{n+1} = T_n + T_{n-1} + T_{n-2}, \ n \geq 2 \end{array} \right.$$

The main purpose of this paper is to present some results involving the *k*-Fibonacci, *k*-Pell and *k*-Jacobsthal numbers at negative indices using define a useful operator denoted by $\delta_{p_1p_2}$. By making use of this operator, we can derive new results based on our previous ones [5, 9, ?]. In order to determine the generating functions of the product of *k*-Fibonacci, *k*-Pell and *k*-Jacobsthal numbers with negative indices and Jacobsthal polynomials.

In order to render the work self-contained, we give the necessary preliminaries tools and recall some defnitions and results.

Definition 1.7. [6] Let B and P be any two alphabets. We define $S_n(B-P)$ by the following form

$$\frac{\prod_{p\in P}(1-pt)}{\prod_{b\in B}(1-bt)} = \sum_{n=0}^{\infty} S_n(B-P)t^n,$$
(1.2)

with the condition $S_n(B-P) = 0$ for n < 0. [7]

Corollary 1.8. [7] Taking $B = \{0, 0, ..., 0\}$ in (1.2) gives

$$\Pi_{p\in P}(1-pt) = \sum_{n=0}^{\infty} S_n(-P)t^n.$$

Equation (1.2) can be rewritten in the following form

$$\sum_{n=0}^{\infty} S_n (B-P) t^n = \left(\sum_{n=0}^{\infty} S_n (B) t^n \right) \times \left(\sum_{n=0}^{\infty} S_n (-P) t^n \right),$$
where

where

$$S_n(B-P) = \sum_{j=0}^n S_{n-j}(-P)S_j(B).$$

Definition 1.9. [10] Given a function f on \mathbb{R}^n , the divided difference operator is defined as follows

$$\partial_{p_i p_{i+1}}(f) = \frac{f(p_1, \dots, p_i, p_{i+1}, \dots, p_n) - f(p_1, \dots, p_{i-1}, p_{i+1}, p_i, p_{i+2}, \dots, p_n)}{p_i - p_{i+1}}$$

Definition 1.10. The symmetrizing operator $\delta_{e_1e_2}^k$ is defined by

$$\delta_{p_1p_2}^k(g(p_1)) = \frac{p_1^k g(p_1) - p_2^k g(p_2)}{p_1 - p_2} \text{ for all } k \in \mathbb{N}$$

Proposition 1.11. [?] Let $P = \{p_1, p_2\}$ an alphabet, we define the operator $\delta_{p_1p_2}^k$ as follows

 $\delta_{p_1p_2}^k g(p_1) = S_{k-1}(p_1+p_2)g(p_1) + p_2^k \partial_{p_1p_2}g(p_1), \text{ for all } k \in \mathbb{N}.$ **Proposition 1.12.** [5] The relations

$$1)F_{k,-n} = (-1)^{n+1}F_{k,n},$$

$$2)P_{k,-n} = (-1)^{n+1}P_{k,n},$$

$$3)L_{k,-n} = (-1)^n L_{k,n},$$

$$4)Q_{k,-n} = (-1)^n Q_{k,n},$$

$$5)J_{k,-n} = (-1)^{n-1}2^{-n}J_{k,n},$$

hold for all $n \ge 0$.

Proposition 1.13. Let $\{P_n\}_{n\geq 0}$ sequence is called symmetric when $P_n(-x) = (-1)^n P_n(x), n \geq 0.$

2. Theorem and Proof

The following Theorem is one of the key tools of the proof of our main result. It has been proved in [10]. For the completeness of the paper we state its proof here.

Theorem 2.1. Given two alphabets $P = \{p_1, p_2\}$ and $B = \{b_1, b_2, b_3\}$, we have

$$\sum_{n=0}^{\infty} S_n(B)\partial_{p_1p_2}(p_1^{n+1})t^n = \frac{S_0(-B) - p_1p_2S_2(-B)t^2 - p_1p_2S_3(-B)(p_1+p_2)t^3}{\left(\sum_{n=0}^{\infty} S_n(-B)p_1^n t^n\right)\left(\sum_{n=0}^{\infty} S_n(-B)p_2^n t^n\right)}.$$
(2.1)

Proof. Let $\sum_{n=0}^{\infty} S_n(B)t^n$ and $\sum_{n=0}^{\infty} S_n(-B)t^n$ be two sequences such that $\sum_{n=0}^{\infty} S_n(B)t^n = \frac{1}{\sum_{n=0}^{\infty} S_n(-B)t^n}$. On one hand, since $g(p_1) = \sum_{n=0}^{\infty} S_n(B)p_1^nt^n$,

we have

$$\begin{split} \delta_{p_1 p_2} g(p_1) &= \delta_{p_1 p_2} \left(\sum_{n=0}^{\infty} S_n(B) p_1^n t^n \right) \\ &= \frac{p_1 \sum_{n=0}^{\infty} S_n(B) p_1^n t^n - p_2 \sum_{n=0}^{\infty} S_n(B) p_2^n t^n}{p_1 - p_2} \\ &= \sum_{n=0}^{\infty} S_n(B) \left(\frac{p_1^{n+1} - p_2^{n+1}}{p_1 - p_2} \right) t^n \\ &= \sum_{n=0}^{\infty} S_n(B) \partial_{p_1 p_2} (p_1^{n+1}) t^n \end{split}$$

which is the right-hand side of (2.1). On the other part, since

$$g(p_1) = \frac{1}{\sum\limits_{n=0}^{\infty} S_n(-B) p_1^n t^n},$$

we have

$$\begin{split} \delta_{p_1p_2}g(p_1) &= \frac{p_1\prod_{b\in B} (1-bp_2)t - p_2\prod_{b\in B} (1-bp_1t)}{(p_1-p_2)\left(\sum_{n=0}^{\infty} S_n(-B)p_1^nt^n\right)\left(\sum_{n=0}^{\infty} S_n(-B)p_2^nt^n\right)}.\\ \text{Using the fact that} &: \sum_{n=0}^{\infty} S_n(-B)p_1^nt^n = \prod_{b\in B} (1-bp_1t), \text{ then}\\ \delta_{p_1p_2}g(p_1) &= \frac{\sum_{n=0}^{\infty} S_n(-B)\frac{p_1p_2^n-p_2p_1^n}{p_1-p_2}t^n}{\left(\sum_{n=0}^{\infty} S_n(-B)p_1^nt^n\right)\left(\sum_{n=0}^{\infty} S_n(-B)p_2^nt^n\right)}\\ &= \frac{S_0(-B) - p_1p_2S_2(-B)t^2 - p_1p_2(p_1+p_2)S_3(-B)t^3}{\left(\sum_{n=0}^{\infty} S_n(-B)p_1^nt^n\right)\left(\sum_{n=0}^{\infty} S_n(-B)p_2^nt^n\right)}. \end{split}$$

This completes the proof.

3. On the Generating Functions of Some Numbers and Polynomails

In this part, we derive the new generating functions of the products of some known numbers. For the applications of generating functions of some known functions, we refer the reader to see the references [?, ?]. **Remark 1:** Replacing p_2 by $(-p_2)$ and assuming that $p_1p_2 = 1$, $p_1 - p_2 = k$, $S_1(-B) = -1$, $S_2(-B) = -1$ and $S_3(-B) = -1$ in the relationship (2.1), we deduce the following theorems.

Theorem 3.1. The new generating function of product of k-Fibonacci numbers and Tribonacci numbers is given by

$$\sum_{n=0}^{\infty} T_n F_{k,n} t^n = \frac{1 - t^2 - kt^3}{1 - kt - (k^2 + 3)t^2 - (k^3 + 4k)t^3 - (k^2 + 1)t^4 + kt^5 - t^6}.$$
(3.1)

Theorem 3.2. The new generating function of product of k-Fibonacci numbers with negative indices and Tribonacci numbers is given by

$$\sum_{n=0}^{\infty} T_n F_{k,-n} t^n = \frac{-1+t^2 - kt^3}{1+kt - (k^2+3)t^2 + (k^3+4k)t^3 - (k^2+1)t^4 - kt^5 - t^6}.$$
(3.2)

• Put k = 1 in the relationship (3.2) we have

$$\sum_{n=0}^{\infty} T_n F_{-n} t^n = \frac{-1+t^2-t^3}{1+t+4t^2+5t^3-2t^4-t^5-t^6},$$

which representing a new generating function of Fibonacci numbers at negative indices and Tribonacci numbers.

Setting $b_3 = 0$ and replacing b_2 by $(-b_2)$, p_2 by $(-p_2)$ in the relationship (2.1), and assuming $b_1 - b_2 = p_1 - p_2 = k$; $b_1b_2 = p_1p_2 = 1$; we deduce the following theorems.

Theorem 3.3. For $n \in \mathbb{N}$, the new generating function of the product of k-Fibonacci numbers at negative indices is given by

$$\sum_{n=0}^{\infty} F_{k,-n}^2 t^n = \frac{1-t^2}{1-k^2t-2(k^2+1)t^2-k^2t^3+t^4}.$$
(3.3)

Corollary 3.4. If k = 1 in the relationship (3.3) we get

$$\sum_{n=0}^{\infty} F_{-n}^2 t^n = \frac{1-t^2}{1-t-4t^2-t^3+t^4},$$

which representing a new generating function of the product of Fibonacci numbers with negative indices.

Theorem 3.5. For $n \in \mathbb{N}$, the new generating function of the product of k-Lucas numbers at negative indices is given by

$$\sum_{n=0}^{\infty} L_{k,-n}^{2} t^{n} = \frac{4 - 3k^{2}t - 4(k^{2} + 1)t^{2} - k^{2}t^{3}}{1 - k^{2}t - 2(k^{2} + 1)t^{2} - k^{2}t^{3} + t^{4}}.$$
(3.4)

Proof. We have

$$\begin{split} \sum_{n=0}^{\infty} L_{k,-n}^{2} t^{n} &= \sum_{n=0}^{\infty} \left[(-1)^{n} ((2+k^{2})S_{n}(b_{1}+[-b_{2}]) - kS_{n+1}(b_{1}+[-b_{2}])) \right] \\ &\times (-1)^{n} ((2+k^{2})S_{n}(p_{1}+[-p_{2}]) - kS_{n+1}(p_{1}+[-p_{2}])) \right] t^{n} \\ &= (2+k^{2})^{2} \sum_{n=0}^{\infty} (-1)^{2n}S_{n}(b_{1}+[-b_{2}])S_{n}(p_{1}+[-p_{2}])t^{n} \\ &\quad k(2+k^{2}) \sum_{n=0}^{\infty} (-1)^{2n}S_{n+1}(p_{1}+[-p_{2}])S_{n}(b_{1}+[-b_{2}])t^{n} \\ &\quad -k(2+k^{2}) \sum_{n=0}^{\infty} (-1)^{2n}S_{n+1}(b_{1}+[-b_{2}])S_{n}(p_{1}+[-p_{2}])t^{n} \\ &\quad k^{2} \sum_{n=0}^{\infty} (-1)^{2n}S_{n+1}(b_{1}+[-b_{2}])S_{n+1}(p_{1}+[-p_{2}])t^{n} \\ &= (2+k^{2})^{2} \sum_{n=0}^{\infty} F_{k,n}t^{n} - k(2+k^{2}) \\ &\quad \times [\frac{k+(p_{1}-p_{2})t}{1-k(p_{1}-p_{2})t-[(p_{1}-p_{2})^{2}+2p_{1}p_{2}+k^{2}p_{1}p_{2}]t^{2}-k(p_{1}-p_{2})p_{1}p_{2}t^{3}+p_{1}^{2}p_{2}^{2}t^{4}}] \\ &\quad -k(2+k^{2})[\frac{k(p_{1}-p_{2})-[(p_{1}-p_{2})^{2}+2p_{1}p_{2}+k^{2}p_{1}p_{2}]t^{2}-k(p_{1}-p_{2})p_{1}p_{2}t^{3}+p_{1}^{2}p_{2}^{2}t^{4}}] \\ &\quad +k^{2}[\frac{k(p_{1}-p_{2})-[(p_{1}-p_{2})^{2}+2p_{1}p_{2}+k^{2}p_{1}p_{2}]t^{2}-k(p_{1}-p_{2})p_{1}p_{2}t^{3}+p_{1}^{2}p_{2}^{2}t^{4}}]. \end{split}$$

Since

$$\sum_{n=0}^{\infty} F_{k,n}^2 t^n = \frac{1-t^2}{1-k^2t-2(k^2+1)t^2-k^2t^3+t^4},$$

therefore

$$\sum_{n=0}^{\infty} L_{k,-n}^{2} t^{n} = \frac{4 - 3k^{2}t - 4(k^{2} + 1)t^{2} - k^{2}t^{3}}{1 - k^{2}t - 2(k^{2} + 1)t^{2} - k^{2}t^{3} + t^{4}}$$

This completes the proof.

Theorem 3.6. For $n \in \mathbb{N}$, the new generating function of the product of k-Pell Lucas numbers at negative indices is given by

$$\sum_{n=0}^{\infty} Q_{k,-n}^2 t^n = \frac{4 - 12t - 4(4k + k^2)t^2 - 4k^2t^3}{1 + 4t - 2(k^2 + 4k)t^2 - 4k^2t^3 + k^4t^4}.$$
(3.5)

Proof. We have

$$\begin{split} \sum_{n=0}^{\infty} Q_{k,-n}^{2} t^{n} &= \sum_{n=0}^{\infty} \left[(-1)^{n} (S_{n+1}(b_{1} + [-b_{2}]) - (2+k) S_{n-1}(b_{1} + [-b_{2}])) \right] t^{n} \\ &= \sum_{n=0}^{\infty} (-1)^{2n} S_{n+1}(b_{1} + [-p_{2}]) S_{n+1}(p_{1} + [-p_{2}]) t^{n} - (2+k) \sum_{n=0}^{\infty} (-1)^{2n} S_{n+1}(b_{1} + [-b_{2}]) S_{n-1}(p_{1} + [-p_{2}]) t^{n} \\ &- (2+k) \sum_{n=0}^{\infty} (-1)^{2n} S_{n+1}(p_{1} + [-p_{2}]) S_{n-1}(b_{1} + [-b_{2}]) t^{n} + \\ &(2+k)^{2} \sum_{n=0}^{\infty} (-1)^{2n} S_{n-1}(b_{1} + [-b_{2}]) S_{n-1}(p_{1} + [-p_{2}]) t^{n} \\ &= \left[\frac{2(p_{1} - p_{2}) + [k(p_{1} - p_{2})^{2} + kp_{1}p_{2} + 4p_{1}p_{2}]t - 2k(p_{1} - p_{2})^{2} - k^{2}p_{1}^{2}p_{2}^{2}t^{3}}{1 - 2(p_{1} - p_{2})t - [k(p_{1} - p_{2})^{2} + 2kp_{1}p_{2} + 4p_{1}p_{2}]t^{2} - 2k(p_{1} - p_{2})p_{1}p_{2}t^{3} + k^{2}p_{1}^{2}p_{2}^{2}t^{4}} \right] \\ &- (2+k) \left[\frac{(k+4)t + 2k(p_{1} - p_{2})t - [k(p_{1} - p_{2})^{2} + 2kp_{1}p_{2} + 4p_{1}p_{2}]t^{2} - 2k(p_{1} - p_{2})p_{1}p_{2}t^{3} + k^{2}p_{1}^{2}p_{2}^{2}t^{4}} \right] \\ &- (2+k) \left[\frac{(k+4)t + 2k(b_{1} - b_{2})t - [k(b_{1} - b_{2})^{2} + 2kb_{1}b_{2} + 4b_{1}b_{2}]t^{2} - 2k(b_{1} - b_{2})b_{1}b_{2}t^{3} + k^{2}b_{1}^{2}b_{2}^{2}t^{4}} \right] \\ &+ (2+k)^{2} \sum_{n=0}^{\infty} P_{k,n}^{2}t^{n}. \end{split}$$

Since

$$\sum_{n=0}^{\infty} P_{k,n}^2 t^n t^n = \frac{t - k^2 t^3}{1 + 4t - 2(k^2 + 4k)t^2 - 4k^2 t^3 + k^4 t^4}$$

therefore

$$\sum_{n=0}^{\infty} Q_{k,-n}^2 t^n = \frac{4 - 12t - 4(4k + k^2)t^2 - 4k^2t^3}{1 + 4t - 2(k^2 + 4k)t^2 - 4k^2t^3 + k^4t^4}$$

This completes the proof.

Remark 2: Replacing p_2 by $(-p_2)$ and assuming that $p_1p_2 = 1$, $p_1 - p_2 = x$ in the relationship (2.1), we deduce the following theorems Theorem 3.7. The new generating function of both Fibonacci polynomials and symmetric functions in several variables as

$$\sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)F_n(x)t^n = \frac{S_0(-B)+S_2(-B)t^2+xS_3(-B)t^3}{\prod_{i=1}^3 \left(1-xb_it-b_i^2t^2\right)}.$$
(3.6)

Theorem 3.8. The new generating function of both symmetric Fibonacci polynomials and symmetric functions in several variables are defined as

$$\sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)F_n(-x)t^n = \frac{S_0(-B)+S_2(-B)t^2-xS_3(-B)t^3}{\prod_{i=1}^3 \left(1+xb_it-b_i^2t^2\right)}$$

Proof. We have

$$\sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)F_n(-x)t^n = \sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)(-1)^n F_n(x)t^n$$
$$= \sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)F_n(x)(-t)^n$$
$$= \frac{S_0(-B)+S_2(-B)t^2-xS_3(-B)t^3}{\prod_{i=1}^{3} (1+xb_it-b_i^2t^2)}.$$

This completes the proof.

Remark 3: Replacing b_2 by $(-b_2)$, p_2 by $(-p_2)$ and assuming that $b_1b_2 = p_1p_2 = 2$, $b_1 - b_2 = p_1 - p_2 = k$ in the relationship (2.1), we deduce the following theorems.

Theorem 3.9. For $n \in \mathbb{N}$, the new generating function of product of k-Jcobsthal numbers is given by

$$\sum_{n=0}^{\infty} J_{k,n}^2 t^n = \frac{t+2kt^2}{1-k^2t-4(k^2+1)t^2-4kt^3+16t^4}.$$

Theorem 3.10. For $n \in \mathbb{N}$, the new generating function of the product of k-Jacobsthal numbers and k-Jacobsthal numbers with negative indices is given

$$\sum_{n=0}^{\infty} J_{k,n} J_{k,-n} t^n = \frac{\frac{t}{2} - \frac{k}{2}t^2}{1 + \frac{k^2}{2}t - (k^2 + 1)t^2 + \frac{k}{2}t^3 + t^4}.$$
(3.7)

Corollary 3.11. If k = 1 in the relationship (3.7) we get

$$\sum_{n=0}^{\infty} J_n J_{-n} t^n = \frac{\frac{t}{2}t + \frac{t^2}{2}}{1 + \frac{t}{2} - 2t^2 + \frac{t^3}{2} + t^4},$$

which representing a new generating function of the product of Jacobsthal numbers and Jacobsthal numbers with negative indices. **Theorem 3.12.** For $n \in \mathbb{N}$, the new generating function of the product of k-Jacobsthal numbers at negative indices is given by

$$\sum_{n=0}^{\infty} J_{k,-n}^2 t^n = \frac{\frac{t}{4} + \frac{k}{8}t^2}{1 - \frac{k^2}{4}t - \frac{(k^2+1)}{4}t^2 - \frac{k}{16}t^3 + \frac{t^4}{16}}.$$

Proof. We have

$$J_{k,-n}^{2}t^{n} = \sum_{n=0}^{\infty} J_{k,-n}J_{k,-n}t^{n}$$

$$= \sum_{n=0}^{\infty} (-1)^{n-1}2^{-n}J_{k,n}(-1)^{n-1}2^{-n}J_{k,n}t^{n}$$

$$= \sum_{n=0}^{\infty} (-1)^{2n-2}2^{-2n}J_{k,n}^{2}t^{n}$$

$$= \sum_{n=0}^{\infty} J_{k,n}^{2}(\frac{t}{4})^{n}$$

$$= \frac{\frac{t}{4} + \frac{k}{8}t^{2}}{1 - \frac{k^{2}}{4}t - \frac{(k^{2}+1)}{4}t^{2} - \frac{k}{16}t^{3} + \frac{t^{4}}{16}}.$$

This completes the proof.

Theorem 3.13. [2] *Given two alphabets* $P = \{p_1, p_2\}$ *and* $B = \{b_1, b_2, b_3\}$ *, we have*

_

 $\sum_{n=0}^{\infty}$

$$\sum_{n=0}^{\infty} S_n (b_1 + b_2 + b_3) S_{n-1} (p_1 + p_2) t^n = \frac{-S_1 (-B)t - (p_1 + p_2)S_2 (-B)t^2 - ((p_1 + p_2)^2 - p_1 p_2)S_3 (-B)t^3}{\left(\sum_{n=0}^{\infty} S_n (-B)p_1^n t^n\right) \left(\sum_{n=0}^{\infty} S_n (-B)p_2^n t^n\right)}.$$
(3.8)

Remark 4: Replacing p_2 by $(-p_2)$ and assuming that $p_1p_2 = k$, $p_1 - p_2 = 2$, $S_1(-B) = -1$, $S_2(-B) = -1$ and $S_3(-B) = -1$ in the relationship (3.8), we deduce the following theorems.

Theorem 3.14. For $n \in \mathbb{N}$, the new generating function of product of k-Pell numbers and Tribonacci numbers as follows

.

$$\sum_{n=0}^{\infty} T_n P_{k,n} t^n = \frac{t+2t^2+(4+k)t^3}{1-2t-(3k+4)t^2-8(k+1)t^3-(k^2+4k)t^4+2k^2t^5-k^3t^6}.$$
(3.9)

Theorem 3.15. For $n \in \mathbb{N}$, the new generating function of product of k-Pell numbers with negative indices and Tribonacci numbers as follows

$$\sum_{n=0}^{\infty} T_n P_{k,-n} t^n = \frac{t - 2t^2 + (4+k)t^3}{1 + 2t - (3k+4)t^2 + 8(k+1)t^3 - (k^2 + 4k)t^4 - 2k^2t^5 - k^3t^6}.$$
(3.10)

Proof. We have

$$\begin{split} \sum_{n=0}^{\infty} T_n P_{k,-n} t^n &= \sum_{n=0}^{\infty} T_n \ (-1)^{n+1} P_{k,n} t^n \\ &= -\sum_{n=0}^{\infty} T_n P_{k,n} (-t)^n \\ &= -\left[\frac{-t+2t^2-(4+k)t^3}{1+2t-(3k+4)t^2+8(k+1)t^3-(k^2+4k)t^4-2k^2t^5-k^3t^6}\right] \\ &= \frac{t-2t^2+(4+k)t^3}{1+2t-(3k+4)t^2+8(k+1)t^3-(k^2+4k)t^4-2k^2t^5-k^3t^6}. \end{split}$$

This completes the proof.

Remark 5: Replacing p_2 by $(-p_2)$ and assuming that $p_1p_2 = 2$, $p_1 - p_2 = k$, in the relationship (3.8), we deduce the following theorems. **Theorem 3.16.** For $n \in \mathbb{N}$, the new generating function of both k-Jacobsthal numbers and symmetric functions in several variables as

$$\sum_{n=0}^{\infty} S_n (b_1 + b_2 + b_3) J_{k,n} t^n = \frac{-S_1 (-B)t - kS_2 (-B)t^2 - (k^2 + 2)S_3 (-B)t^3}{\prod_{i=1}^3 \left(1 - kb_i t - 2b_i^2 t^2\right)}.$$
(3.11)

Corollary 3.17. If k = 1 in the relationship (3.11) we get

$$\sum_{n=0}^{\infty} S_n (b_1 + b_2 + b_3) J_n t^n = \frac{-S_1 (-B)t - S_2 (-B)t^2 - 3S_3 (-B)t^3}{\prod_{i=1}^3 \left(1 - b_i t - 2b_i^2 t^2\right)}$$

which representing a new generating function of both Jacobsthal numbers and symmetric functions in several variables.

Theorem 3.18. For $n \in \mathbb{N}$, the new generating function of both k-Jcobsthal numbers with negative indices and symmetric functions in several variables as

$$\sum_{n=0}^{\infty} S_n(b_1+b_2+b_3) J_{k,-n} t^n = \frac{\frac{-S_1(-B)}{2}t + \frac{k}{4}S_2(-B)t^2 - \frac{(k^2-2)}{8}S_3(-B)t^3}{\prod_{i=1}^{3} \left(1 + \frac{k}{2}b_it - \frac{b_i^2}{2}t^2\right)}.$$
(3.12)

Proof. We have

$$\sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)J_{k,-n}t^n = \sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)(-1)^{n-1}2^{-n}J_{k,n}t^n$$

$$= -\sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)J_{k,n}(\frac{-t}{2})^n$$

$$= -\left[\frac{\frac{S_1(-B)}{2}t - \frac{k}{4}S_2(-B)t^2 + \frac{(k^2-2)}{2}S_3(-B)t^3}{\prod_{i=1}^{3}\left(1 + \frac{k}{2}b_it - \frac{b_i^2}{2}t^2\right)}\right]$$

$$= \frac{\frac{-S_1(-B)}{2}t + \frac{k}{4}S_2(-B)t^2 - \frac{(k^2-2)}{8}S_3(-B)t^3}{\prod_{i=1}^{3}\left(1 + \frac{k}{2}b_it - \frac{b_i^2}{2}t^2\right)}.$$

This completes the proof.

• Put k = 1 in the relationship (3.12) we have

$$\sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)J_{-n}t^n = \frac{\frac{-S_1(-B)}{2}t + \frac{S_2(-B)}{4}t^2 - \frac{S_3(-B)}{8}t^3}{\prod_{i=1}^3 \left(1 + \frac{b_i}{2}t - \frac{b_i^2}{2}t^2\right)},$$
(3.13)

which representing a new generating function of both Jacobsthal numbers at negative indices and symmetric functions in several variables.

Remark 6: Replacing p_2 by $(-p_2)$ and assuming that $p_1p_2 = 2x$, $p_1 - p_2 = 1$, in the relationship (3.8), we deduce the following theorems **Theorem 3.19.** For $n \in \mathbb{N}$, The new generating function of both Jacobsthal polynomials and symmetric functions in several variables as

$$\sum_{n=0}^{\infty} S_n (b_1 + b_2 + b_3) J_n(x) t^n = \frac{-S_1 (-B)t - S_2 (-B)t^2 - (1+2x)S_3 (-B)t^3}{\prod_{i=1}^3 \left(1 - b_i t - 2xb_i^2 t^2\right)}.$$
(3.14)

Theorem 3.20. For $n \in \mathbb{N}$, The new generating function of both symmetric Jacobsthal polynomials and symmetric functions in several variables as

$$\sum_{n=0}^{\infty} S_n (b_1 + b_2 + b_3) J_n (-x) t^n = \frac{S_1 (-B)t - S_2 (-B)t^2 + (1+2x)S_3 (-B)t^3}{\prod_{i=1}^3 \left(1 + b_i t - 2xb_i^2 t^2\right)}.$$
(3.15)

Proof. We have

$$\sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)J_n(-x)t^n = \sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)(-1)^n J(x)t^n$$

=
$$\sum_{n=0}^{\infty} S_n(b_1+b_2+b_3)J(x)(-t)^n$$

=
$$\frac{S_1(-B)t-S_2(-B)t^2+(1+2x)S_3(-B)t^3}{\prod_{i=1}^{3} (1+b_it-2xb_i^2t^2)}.$$

This completes the proof.

)

4. Conclusion

In this work, a theorem has been proposed in order to determine the generating functions for the products of k-Fibonacci numbers, k-Pell numbers, k-Jacobsthal numbers all with negative indices, the product of k-Fibonacci numbers and Tribonacci numbers, k-Jacobsthal numbers and symmetric functions in several variables and product of Jacobsthal polynomials and symmetric functions in several variables. The proposed theorem is based on the symmetric functions. The obtained results agree with the results obtained in some previous works. Acknowledgements. The authors would like to thank the anonymous referees for their valuable comments and suggestions.

References

- A. Boussayoud, S. Boughaba, M. Kerada, S. Araci and M. Acikgoz, Generating functions of binary products of k-Fibonacci and orthogonal polynomials, Rev. R. Acad. Cienc. Exactas Fís. Nat., Ser. A Mat. 113, (2019), 2575-2586.
 A. Boussayoud, S. Boughaba, On Some Identities and Generating Functions for k-Pell sequences and Chebyshev polynomials, Online J. Anal. Comb.
- 14 #3, (2019), 1-13.
- A. Boussayoud and A. Abderrezzak, Complete Homogeneous Symmetric Functions and Hadamard Product, Ars Comb. 144, (2019), 81-90.
- [4] A. Boussayoud, A. Abderrezzak and S. Araci, A new symmetric endomorphism operator for some generalizations of certain generating functions, Notes Number Theory Discrete Math.24, (2018), 45-58,
- [5] A. Boussayoud, M. Kerada, N. Harrouche, On the k-Lucas numbers and Lucas Polynomials, Turkish Journal of Analysis and Number.5(3), (2017), 121-125. A. Boussayoud, A. Abderrezzak, On Some Identities and Generating Functions for Hadamard Product, Electron. J. Math. Analysis Appl.5(2), (2017), [6]
- 89-97. A. Boussayoud, M. Bolyer, M. Kerada, On Some Identities and Symmetric Functions for lucas and pell numbers, Electron. J. Math. Analysis Appl. 5(1), [7] (2017), 202-207
- [8] A. Boussayoud, Symmetric functions for k-Pell Numbers at negative indices, Tamap Journal of Mathematics and Statistics. 1ID20, (2017), 1-8.
- A. Boussayoud, On some identities and generating functions for Pell-Lucas numbers, Online J. Anal. Comb. 12 1-10, (2017)
- [10] A. Boussayoud, N. Harrouche, Complete Symmetric Functions and k- Fibonacci Numbers, Commun. Appl. Anal. 20, (2016), 457-467.
 [11] C. Bolat, H Kose, On the Properties of k-Fibonacci Numbers, Int. J. Contemp. Math. Sciences. 5, 1097-1105, (2010).
 [12] P. Catarino, On Some Identities and Generating Functions for k- Pell Numbers, Int. Journal of Math. Analysis. 7, 1877-1884, (2013).

- [13] M. Asci, E. Gurel, Gaussian Jacobsthal and Gaussian Jacobsthal Lucas polynomials, Notes Number Theory Discrete Math. 19, 25-36, (2013).
 [14] D. Jhala, G.P.S. Rathore, K Sisodiya, Some Properties of k-Jacobsthal Numbers with Arithmetic Indexes, Turkish Journal of Analysis and Number.2(4),
- (2014), 119-124.
- [15] A.F. Horadan, Basic properties of a certain generalized sequence of numbers, Fibonacci Q. 3, 161–176, (1965).
 [16] S. Falcon, A. Plaza, On the Fibonacci k- numbers, Chaos, Salutions & Fractals. 32, (2007), 1615-1624.
 [17] S. Falcon, A. Plaza, The k- Fibonacci sequence and the Pascal 2-triangle, Chaos, Salutions & Fractals. 33, (2008), 38-49.
- [18] N. Y. Ozgur, J. Sokol, On starlike functions connected with k-Fibonacci numbers, Bull. Malays. Math. Sci. Soc. 38 (2015), 249-258.
- [19] N. Y. Ozgur, S. U car, New presentations for real numbers, Math. Sci.Appl. E-Notes 3 (2015), 13–17.
 [20] N. Y. Ozgur, S. U car, O. Oztun c, Complex factorizations of the k-Fibonacci and k-Lucas numbers, An. S tiint. Univ. Al. I. Cuza Ia si. Mat., 62 (2016), 13-20.